
Problems with a Neighbour – Part 3 

 

Janis:  Hello. 

Brad:  Hi.  I’m Brad.  I live in the grey house across the street. 

Janis:  Oh.  Hi Brad.  My dog isn’t bothering you, is she? 

Brad:  Oh, no.  Your dog is great.   It’s just that you keep parking your car  

in my driveway. 

Janis:  Well, only if there are no other cars there.  I didn’t think you’d mind. 

Brad:  Well, it’s a bit inconvenient actually.  Sometimes I have to park on the  

street. 

Janis:  Well, I do too. 

Brad:  Yes, but it’s my driveway.  Please don’t park there anymore. 

Janis:  Fine! 

Brad:  Good-bye. 

Janis:  Good-bye. 

Brad:  Good-bye. 

  



Problems with a Neighbour – Part 3 

Listen and circle the best answers. 

1. Where does Brad live?   

 He lives a.  next to Janis.     He lives  a.  in a house. 

b.  across from Janis.    b.  in an apartment. 

c.  above Brad.     c.  in a townhouse. 

2. Is Janis’s dog bothering Brad? 

 No.  Brad says,   a.  “Your dog is great.” 

b.  “You are great.” 

c.  “Your dog is pooping on my lawn.” 

3. What is Brad’s problem? 

  a.  Janis’s dog is barking. 

b.  Janis is parking in his parking spot. 

c.  Janis is parking in his driveway. 

4. When does Janis park there? 

 She parks there a.  every day. 

b.  when it’s empty. 

c.  when she feels like it. 

5. Why is it a problem? 

 It is    a.  uncomfortable. 

b.  convenient. 

c.  inconvenient. 

6. Why is it a problem? 

 Brad has to    a.  park on the street. 

b.  park in his driveway. 

c.  park on his lawn. 

7. What should Brad do next time he has this problem? 

 He should _______________________________________________________. 

8. How is the relationship between these two neighbours? 

 First, they are a.  friendly and polite.     Then they are  a.  friendly and polite.        

   b.  unfriendly but polite.                   b.  unfriendly but polite.                    

                        c.  unfriendly and rude.                                 c.  unfriendly and rude. 

 


